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4|70 'é) O SW side of pond 63 O Q
5|71 [ 4 S outside comner of building 64|\ |V
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X 110 m MO | Navigate 110 m to finish 73 N
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D Start: path 77 f\
1 | 88 | Path junction 78 /’ <
2 | 66 [N path junction 791 (N
3 |81 | Path and earth bank junction 80 |N\\| ®
4 | 68 | Foot of earth bank 81| ||| Y
5 | 69 | Path and stone wall junction 82 A ‘3}’
6 | 60 [ Path junction 83 f\
7 | 71 | S outside corner of building 84 )> Q
8 | 72 | SE side of ruin 85 )(
9 | 62 | Bend in path 86 X O
10/ 80 | N side of NW knoll 87 / l.
1178 | Bend in path 88| |||
12| 65 | Path and ditch junction 89 O
13| 76 | E side of E boulder

Navigate 80 m to finish
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